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Discussions 

	Company
	Comments

	LGE
	Thank you Aris for providing the updated CR.
We have some comments for clarification on the last update related to BWP.

Comment 1:
Regarding the following 4th change in “Summary of change” in CR cover sheet, we wonder it is limited to the case of switching to dormant BWP. If not, the wording “to change an active DL BWP to the dormant BWP” may need to be updated as just “to change active DL BWP”.
	4.   Capture that, for DCI 0_3/1_3, a UE does not apply an indication to change an active DL BWP to the dormant BWP for a cell when the UE is not scheduled on the cell in Clause 12.



[Aris]: Yes, thank you. 

Comment 2:
Regarding the yellow part in the following paragraph, it seems it might be able to be misread that each of all bits is not equal to 0 or 1 which is not aligned with the intention. Probably, it could be better to slightly update as “not all bits ~ ~ ~ are equal to 0 or 1”.
	If a bandwidth part indicator field is provided by a DCI format 0_3/1_3, 
-	the UE applies for a serving cell the value of the bandwidth part indicator field, if
-	the UE is scheduled by the DCI format 0_3/1_3 to transmit PUSCH/receive PDSCH, respectively, on the serving cell, and
-	the serving cell includes a configured UL/DL BWP with index corresponding to the value of the bandwidth part indicator field, and
-	resourceAllocation = resourceAllocationType0 and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 0_3/1_3 are not equal to 0, or
-	resourceAllocation = resourceAllocationType1 and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 0_3/1_3 are not equal to 1, or
-	resourceAllocation = dynamicSwitch and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 1_3 are not equal to 0 or 1, or
-	resourceAllocation = dynamicSwitch and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 0_3 are not equal to 1 for  or are not equal to 0 for  
-	otherwise, the UE does not apply for the serving cell the value of the bandwidth part indicator field.
The UE does not expect to be scheduled by a DCI format 1_3 to receive a PDSCH on an activated SCell, if:
-	the DCI format 1_3 indicates an active DL BWP provided by dormantBWP-Id for the activated SCell, and
-	resourceAllocation = resourceAllocationType0 and all bits of a block of the frequency domain resource assignment field associated with the activated SCell in the DCI format 1_3 are not equal to 0, or
-	resourceAllocation = resourceAllocationType1 and all bits of a block of the frequency domain resource assignment field associated with the activated SCell in the DCI format 1_3 are not equal to 1, or
-	resourceAllocation = dynamicSwitch and all bits of a block of the frequency domain resource assignment field associated with the activated SCell in the DCI format 1_3 are not equal to 0 or 1.
If an active DL BWP provided by dormantBWP-Id for a UE on an activated SCell is not a default DL BWP for the UE on the activated SCell, as described in clause 12, the BWP inactivity timer is not used for transitioning from the active DL BWP provided by dormantBWP-Id to the default DL BWP on the activated SCell.



[Aris]: It is fine either way – OK to update as suggested.
BTW, one other update I need to make is the following
-	resourceAllocation = resourceAllocationType0 and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 0_3/1_3 are not equal to 0, or
-	resourceAllocation = resourceAllocationType1 and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 0_3/1_3 are not equal to 1, or
-	resourceAllocation = dynamicSwitch and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 0_3/1_3 are not equal to 0 or 1, or
-	resourceAllocation = dynamicSwitch useInterlacePUCCH-PUSCH is provided and all bits of a block of the frequency domain resource assignment field associated with the serving cell in the DCI format 0_3 are not equal to 1 for  or are not equal to 0 for  


	Ericsson1
	There was one TP for 38.213 in our contribution (R1-2401140) to align nCI usage with that from the RRC specification. According to the Rel-18 RRC specification, the nCI-Value is configured for each set of cells. It is not an optional IE. However, 38.213 seems to capture the IE as an optional parameter. It is proposed to update the specification to reflect the latest 38.331.
Proposal 1: Adopt below TP1 for 38.213, subclause 10.1 to reflect that nCI-Value is always provided for mc-DCI.
-----------------------------Begin TP1 for 38.213, subclause 10.1------------------
<omit unchanged text>
If a UE is configured with CrossCarrierSchedulingConfig for a serving cell, the carrier indicator field value corresponds to the value indicated by cif-InSchedulingCell in CrossCarrierSchedulingConfig. If a UE is configured with MC-DCI-SetofCells for a set of serving cells, the UE can be is provided nCI-Value for the set of serving cells.
<omit unchanged text>
 is 
-    the carrier indicator field value, if provided by cif-InSchedulingCell in CrossCarrierSchedulingConfig for the serving cell on which PDCCH is monitored, except for scheduling of the serving cell from the same serving cell in which case ;
-    the nCI-Value, if provided, for the set of serving cells MC-DCI-SetofCells, if MC-DCI-SetofCells is provided; 
-    otherwise, including for any CSS, 
<omit unchanged text>
-----------------------------End TP1 for 38.213, subclause 10.1----------------------

[Aris]: OK. Will also need to add the above. 

	ZTE
	A change is missing in the pseudo code below.  should be . 
;

[Aris]: Thank you – updated.


	Vivo
	Comment1 summary of change
If the following bullet corresponds to the agreement that A UE does not expect a DCI format 0_3/1_3 schedules an SCell with valid FDRA value and indicates the SCell to switch to dormant BWP, it seems that the condition “when the UE is not scheduled on the cell in Clause 12” should be changed to “when the UE is not scheduled on the cell in Clause 12.” If UE is scheduled on a cell, it must be provided with a valid FDRA for the cell. According to the agreement, UE is not expected to be triggered to switch to the dormant bwp for the cell in this case.
4.Capture that, for DCI 0_3/1_3, a UE does not apply an indication to change an active DL BWP to the dormant BWP for a cell when the UE is not scheduled on the cell in Clause 12.

[Aris]: Comment 4 (now Comment 5) has been updated based on LGE’s first comment. The “not scheduled” is correct as is (the “to the dormant BWP” is removed). 

Regarding Comment2 of LGE, we share a similar view with LGE, “not all …. bits are equal to…” is more accurate.
[Aris]: OK.

Regarding comment of Ericsson, we support the change proposed by Ericsson. The current spec can be interpreted as that nCI-Value can be absent, and when it is not provided, 0 is used for. However, this interpretation is not aligned with MCE agreements. RAN1 has not specified a default n_CI value for the case when nCI-Value is absent 
[Aris]: OK.

	
	

	
	



